ESERCIZI DI MATEMATICA

Calcolare i seguenti limiti e rappresentarli nel piano cartesiano:

(a)
(b)

: 32652349222,
limg s 400 5377 7025 4z 175

: —5x24+4x—8xz°+13x .
limg 4o =GR

: 624 —52+1322-8.
iy o0 5505, 053

: 622 —2x+5x*—7.
iy oo o TR 758

lim 9—a546224+7x—323 .
T+00 T Ar23 14—3z—TxE

: 222 —3x+5x%—1.
Mg — oo 5711605

lim 9x° 22341228 .
T——00 84513 —6+14x5—624

: 6x—3x34524-9.
limg o “o+522—2348 7

: 2% —3x4-522 -4,
limg— oo 64323 —5-+12 7

: 3x—6254+1223 -1,
limg oo Sama 5,76 5

. 3|lz|+1 .
limg o0 ijg,x )

: 4x+13 .
limg— 400 6—[5—7a]’

: 5x+3 .
My oo 752,770

li 2|z|®—5x+4
My — 400 353 32162

li [3—a3| |
MMy —+o0 721713z

1- 3|I‘—2 .
Mg——0c0 gz 7

: 5x3—4x+9 .
lim, o T oz[-4

li 9lz3—4| |
Mg —co —:E2+4.’E—37

: Tz2—5z+11,
limg oo “gT g 5

. 325 +8z*—12|z|+5
iy —co == rgera



